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GENERAL STUDIES (919179 31e449+)
Paper — I1 (9919s — IT)

Directions for the following three questions

(Q.1103):
Read the passage and answer the

questions that follow. Your answers to these
questions should be based on the passage
only.

Like many people | was convinced
that the broad range of health benefits that
physical activity offers including weight
lozs, lower blood prﬁsun: and cholesterol
levels and hardier immune system. So three
fimes a week [ sweated on a treadmill and
exercise bicyele at my local gym. At the end
of two months, | was rimmer, more
energetic, and felt fitter, If 1 could
accomplish this by working threc times a
week, | reasoned, the more exercise should
bring me even greater benefits.

In the next six months, I included an
hour long running six times a week and
initially felt an improved finess level
However, soon I was plagued by muscular
soreness and aching knees. I felt fatigued
rather than fresher after a work out. What is
more 7 [ found myself suffering from
frequent colds. Wasn't the exercise meant to
protect me from all this ?

Exercise only up fo a point. A
prescription of exercise does not mean
running to the point of lameness or
swimming endless laps until your arms
cramp. So, forget ‘no pain, no gain’. The
key to maximizing the benefits of exercise is
a safe and sensible programme. Choose
gxercises that are safe and emjovable and
will stay with you a life time. The initial
enthusiasm of high impact exercises gives
way to diminishing enjoyment.

1. Ome feels fatigued because of
(a) over-exercising
(b) long working hours
(¢) poor diet
{d) lack of exercise

2.

To get maximum benefits of exercise
one st

(a) follow arigid fitness routine
(k) do high impact exercises
() exercise infrequently

(d) follow a guided
schedule

EXercise

“Work out” in this passage means

{a) acessation of physical exercise
(b) to work outdoors

{c) asession of physical exercise
(d) anything that works eventually

Crive the correct meaning of the word
{a) Buming off of impurities
(b)) Movement of underground

water in an oasis

() Movement of liguid through a
membrane

(dy Lowenng of the freezing point

Transform the following senience
without a change of meaning.

“Besides being poor he is in debt™

Choose your answer from the
following :

(a) He is poor inspite of his debt,
{b) He is poor so he is in debt.
(¢} He is poor vet he is in debt.
(d) He is poor as well as in debt.
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Which one of the following is the
correct transformation of the senience
given below without a change of
meaning ?

“Mone bul a fool would say this”

(a} A foolish person would say this,
ib) Only a fool would say thia.

{c) MNone despite a fool would say
this,

(d) Meither except a fool would say
this.

Which one of the following 1z the
correct achive volce of the sentence
given below 7

“Wasn't he rebuked by his officer 7
(a) His officer rebuked him.

(b} I[md his officer rebuke him 7

{e) Dndn't his officer rebuke him 7

(d) Was not his officer rebuke him ?

Which of the following is the correct
indirect form of the sentence given
below 7

I said to you, “You can see my shop

fomorrow’,

(@) I told you to see my shop
tomormow,

(b} T told yvou that you could see my
shop next day.

{c) [ said to you that you can see my
shop next day,

(dy I zaid to you that you could see
my shop tomorrow.

9.

10.

12.

Choose the correctly spelt word,
(a}) embarrass

(b} embarass

{c} embarras

(d) embaras

Which of the following would you
associate with the word “gregariouns”
carrectly 7

{a) A little tipsy

(b) Egocentric

{c) Fond of company
(d}y Markedly rude

The phrase “Palmy days™ means
{a) Old days

(b) Middle ages

(c) Baddays

(d} Prosperous days

Fill in the blanks in the following
sentence and choose your answer from
the option given below the sentence :

“John got .... the examination.”

(a) wp

(b) at

(c) down
(d) through
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15.

16.

17.

18.
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21.

22.

24,

wra y H e dafa by
(a) IO AMY

(b) =EEEA A

(c) T ara

(d) T =

Pt amedt 9 B fEmd sl fwm
g & 7

() FrwiTTd

(b) o e TE

(c) oETBIEE

(dy o e TR

T W T v o wn o 0
(a) =
(b) FE™
(¢} T
(d) =l

& st wer, W S ], vl S
T EUE = Ared §, s €

(a) TR Y=

(b) ToriEEE =

(c) Tarfergeoy ¥

(d) HEEEENE

=t & Pt mOl 0 FEERY SO OO
e vATW WA e g 3 A
Tt ¥

(a) v

(b)

(c) HTHT

(dy HEMMT

R i T TEA AT & O
%.

(a) Fovoitiaa

(b) Formyg

(c) T

(d) TR
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38.

39.

41.

42.

A, B and C together hired a pasture on
payment of ¥ 888, In the pasture, 20
sheep of A grared for 2.5 months, 30
sheep of B grazed for 4 months and 36
sheep of C grazed for 3.5 months.
How much should C pay as his share 7
(a) 358 (b) T 360

() Ta7E (dy T39

A person takes T 10,000 loan at the
rate of 10% intcrest compounding
vyearly for the period of 4 years. How
much interest he has to pay ?

(a) 74,371 (b) ¥ 4,581

c) ¥ 14,641 (d) 74,641

A student is required to secure at least
50% marks in ordér to pass an
examination. He secured 50 marks
which were less than the minimum
pass marks by 50. The maximuwm

marks of the paper are
(a) 200 (b) 250
(¢) 275 (@ 300

In an examination, 40% students
failed in Hindi, 50% students failed in
English. If 21% students failed in both
the subjects, find the percentage of
those who passed in Hindi.

(a) 3% by 40%

{c) 55% (dy o60%

The value of x in the equation
A 11

-3 x+5 6°°

(@ 7,-9 ) -7.-9

() -1.9 @ 7.9

A number is of two digits. The
position of digits is interchanged and
the new number is added to the
original number. The resultant number
will always be divisible by

(a) B b 9

{c)y 10 @ 11

43,

47,

49,

The LCM. and HCF. of two
numbers x and y are 3 and 103
respectively. If x + y = 36, the value of

1,1,
x !|l' 15
1
@ 1 ®
12 4
©) 315 @ 33
The average contribution of 5 men 1o a

fund is ¥ 35. Sixth man joins and pays
¥ 1% more than the resultant average
of six men. The total contribution of
all the six men is

{a) %210 T 245
(e) T250 (d) T252
The expression
| |
(1 +ﬁ.r-.:.;]' 4 {: + ri] + (2 —q!i}
equals
() 4+32 b 2
€ 4-42 @ 2+42

1f the side of a cube is increased by

100% its volume is increased by

() 400 % (b) 800 %

{c) 200% (dy 100%

If the perimeter of a certain rectangle

iz 76 and its area 360, then what is the

length of its shortest side 7

(a) 12 by 20

{c) 18 Wy 36

If A, B,Ca.ras:ts.lhanh—{ﬂ-c}

equals

(3) (A=-B)u(A nC)

(k) (A-B)-C

icd (A-B)m(A-C)

(d) (A-B)-(A-C)

If the graphic representation of the

data is such that it consists of adjacent
g whose bases are equal to

the class sizes and heights are equal o

the respective class frequencics, then

the figure is

{a) an Ogive

(b) & Histogram

{c) a Frequency Polygon

{d) aBar Chart

ol
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S0.

51.

5.

The mean marks of 30 students in a
class is 58.5, Later on it was found
that the marks 75 was wrongly
recorded as 57. Find the correct mean.
{a) 57.4 by 57.5
{c) 589 (dy 591

Mode and mean of a given moderately
asymmetric data are 18 and 24
respectively. Their median is
{a) 18 b)) 24
(e} 22 (dy 21

A man starts from his home and walks
10 kilometres towards South. Then he
turns right and walks & km, again he
turns right and goes 10 km. Finally he
turns right and walks 5 km. At what
distance is he from his starting point ?
(a) 31km

(b) 101 km

() 1km

(d) 125 ++/136km

Find the value of x in the series
2,6, 30, 210, x, 30030, ...

(@ 2310 (b) 1890
{c) 2520 (dy 2730

T 49 have been divided among 150
children. If each girl gets 50 paise and
each boy gets 25 paise, then the
number of boys is

{a)y 100 ) 104

(e} 102 (dy 106

Diagonals of a quadrilateral intersect
at the point ‘O’ such that AQ = DO =
BO = CO, then ABCD is &

{(a) kite shaped quadrilateral

(b) parallelogram

{c) rectangle

(d) trapezium

56.

57.

58.

59.

A man arranged to pay off a debt of
T 3600 by 40 annual instalments which
are in Arthmetical Progression when
30 of the instalments have been paid,
he dies leaving 1/3™ of the debt unpaid.
The value of the 8 instalment is

(a) T35 by T50

{c) Tas5 {d) Moneofthese

A manufacturer sells a machine to the
wholeseller at a profit of 20%. The
wholeseller sells it to the retailer at a
profit of 10%. The retailer sells the
machine to a customer for ¥ 455.40
after making a profit of 15%. The cost
of the manufacturer is

(a) 300 b) 129
() T 280 (dy T260
In three vessels, the ratio of water and
milk is 6 : 7, 5 : 9 and B : 7

respectively. If the mixture of the
three vessels is mixed, then what will

be the ratio of water and milk 7
(a) 2431:3781
3691 - 4499

{c) 4381 : 5469
{d) WNone of these

The average age of women and child
workers in a factory was 15 years. The
average age of all the 16 children was
% years and the average age of women
workers was 22 years. If éen women
workers were married the number of

unmarried women workers is
(a) 16 () 12
(e) 8 dy o

A daily wage eamer geis a daily wage
at the rate of T 150 per day subject to
the condition that he will have to pay a
penalty at the rate of T 25 per day for
the days on which he absents himself.
At the end of 60 days he gets an
amount of T 7,600. The number of

days he worked is
(a) 54 days (b) 52 days
(c) 51 days (d) 48 days

10 |
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6l.

H2.

63.

635,

6.

In a group of 50 people, 35 speak
Hindi, 25 speak both Hindi and
English and all the people speak Hindi
or English or both. The number of

people who speak English only is
(@ 40 ® 20
e} 15 (dy 10

The age of a father is three times of
that of his son. After 5 vears, the
double of father's age will be five
times the age of son. The presenf age
of father and son is

{a) 30 years, 10 years

(b} 36 years, 12 years

(c) 42 years, |4 years

(d) 45 years, 15 years

If X, ¥ and Z can finish a work in 12,
15 and 18 days respectively, then all
three together can finish that work in

3
(a) 43%, days (b) 5 days
1 5
(c) 5.'_,".; days @) 535 days

The total expenditure incurred by an
industry under different heads is best
represented as a

(a) bar diagram

(b) frequency polygon
{c) piechart

(d) histogram

The principle of KISS in
communication stands for

(8) Keep It Stylish and Subtle

(b) Keep It Short and Simple

{c) Keep It Sincere and Secret

{dy Keep It Safe and Shaded

Which one of the following is the
reason for emitting the negative signal
of scowling 7

{a) Boredom (k) Impatience
{c) Disbelief {(d) Annoyance

67.

68,

71.

Which one of the following is the
reason for displaying the positive
personal signal of leaning forward 7
{a) Concentration

{(b) Extreme confidence

(¢} Taking time 1o think

{d) Relaxation

Which one of the following 15 a
receiver's weakness type of barrier to
communication 7

(a) Ambiguity (b)
() Time

Jargon
(d) Prejudice

Consider the following statements :

Assertion (A) : Interpersonal roles
relate to a person's behaviour
that focuses on interpersonal
contact,

Reason (R) : Such roles are derived
directly from the authonty and
status,

Select your correct answer from the

codes given below :

(2) Both {A) and (R) are true and
(R) comrectly explains (A).

(k) Both [(A) and (R) are true, but
(R is not the correct explanation
of (A).

{e) (A)is true, but (R) is false.

{d) (A)is false, (R) is true.

Which one of the following is pof an
interpersonal role 7

{a) Flgurehead (b) Leader
{¢) Liaison {d) Boss
The one who makes short-term

adjustments and long-term structural
changes to maintain the equilibrium is
called

{a) disseminator

{b) resource allocator

() disturbance handler

(d) negotiator

11 |
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72,

73,

74,

In conflict resolution which one of the
fellowing explains the emphasizing of
areas of agreement and deemphasizing
areas of difference over conflictual
izsues 7

(a) Withdrawal

{(b) Smoothing

(¢) Compromising

(d) Confrontation

Which one of the following is known as
the avoiding style of conflict resolution 7

(a) Satisfying your own needs at the
expense of others

(b) Satisfying other's needs while
Meglecting your own

(¢) MNeglecting interest of both
parties by postponing a decision
(d) Asking both parties to make

sacrifices

Which one of the following refers to
the need o associate with others 7

(2) Need for inclugion

(b} MNeed for individuation
{c) MNeed for control

(d) Need for affection

75. Match items of List — [ with those of

76.

List — II and select your comect answer

from the codes given below the lists :
List-1 List =11
Barriers to  Types of Barriers
Communication
A. Vocabulary 1. Structural
B. Distance 2. Situational
C. Haste 3 Cimun'l.stanl.ial
D. Moise 4. Language
Codes :

A B C D
ay 4 3 2 1
m 3 2 1 4
) 2 3 4 1

d 4 1 3 2

Which one of the following is not a

characteristic of empathic listening 7

(a) Putting oneself in the position of
a speaker

{(b) Being evaluative

{e) Observing body language

(d) Focussing both on feeling and

content of the message

12 |
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77.

T8,

You are a Deputy Secretary in a

Ministry of the Government of India

where you are dealing with the

appointment of ‘Technical Assistants’,

On the basis of a written examination,

10 candidates have been short-listed

for the two posts. Based on their

educational and previous work
experience you have to make your
recommendation in  order of
preference. A scnior official in the

Minisiry who is known to you asks

you to recommend the name of a

candidate Y amongst the first two

choices. What will you do 7

(a) Bring the maiter to the
knowledge of your immediate
superior officer and do as he
verbally directs.

{(b) Comply to the request of the
senior officer who “approached
yvou and recommend the name of
his candidate in the top two
despite knowing that he is not
among the best two,

(c} Examine the profile of all ten
candidates and take decision on
merits even if it means that
candidate Y iz eventually
selected.

(d) See to it that the candidate Y is
not selected at all by placing him
down in the preference.

A manager who is helping a customer
retumn some articles that he purchased
earlier is dealing with a

(a) programmed decision

(b) non-programmed decision

(¢) uncertainty

(d) bounded rationality

79.

80,

81.

In a cricket series India defeated
Australia twice, West Indies defeated
India twice, Australia defeated West
Indies twice and India defeated West
Indies and New Zealand twice. Which
country lost largest number of matches 7

(a) India

{b)  Australia

(€} West Indies
(d) New Zealand

Decision making based on the use of
subjective experience, self-confidence
and  self-motivation to
information data refers to

process

(a) intuitive decision making

(b} rational decision making

{c) bounded rationality approach
(d) administrative decision making

Find out the missing number :

20764 4
? 4
480 a
965 24
(a) 860
b) 1140
(c} 3240
(d) 2880
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8L, A watch is one minute slow at 1.00

p.m. on Tuesday and two minutes fast
at 1.00 p.m. on Thursday. When did it
show the correct time 7

(a) 1.00 a.m. on Wednesday
(b) 5.00 a.m. on Wednesday
(e} 1.00p.m. on Wednesday
{(d) 5.00 p.m. on Wednesday

Sheela is older than Meena, Kamini is
as old as Nalini, Neetu is younger than
Sindhu, who is as old as Malini while
Meena is older than Kamini, Who is
the oldest of all 7

(a) Meena
(b} Kamini
{¢) Nalini

{d) Sheela

Hema and Sadhana are very good at
music and dancing. Madhuri and
Sadhana are equally good at yoga and
music. Madhuri and Reefa are pood at
acting and painting. Who may be
appointed as Art's Coordinator 7

{a) Hema
{b) Sadhana
{¢) Madhun
(d) Reeta

Which of the following would come in
place of the question mark (7) in the
series 7

Seriess : BEH,KNQ, TWZ, (?)
{a) CFI

() DGH

fc) PRS

(d FII

B6.

87.

89,

Fill in the dice given below by

replecing  alphabets  in  place of
question marks.

1 1 3 '
@) LN

(b} CF

i)y EO

d MG

A girl was born on September 6, 1970
which happened to be a Sunday. Her
birthday would have fallen again on
Sunday in
(a) 1975

(b) 1977
(c) 1981

(d 1982

In a certain office, 72% of the workers
prefer cold drink and 44% prefer tea.
If each of them prefers cold drink or
tea and 40 like both, then the total
number of workers in the office is

(@ 250
(k) 240
(c) 220
(d) 210

Paschim Express lefl Delhi for
Mumbai at 14.30 hours travelling at a
speed of 60 kmph. August Kranti
Express left Delhi for Mumbai on the
same day at 16.30 hours travelling at a
speed of 80 kmph. How far away from
Delhi will the two trains mest
(stoppages excluded) 7

(a) 500 kms

(b) 480 kms

(€) 360 kms

(d) 240 kms
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93,

If South-East becomes North and
Morth-East becomes West and all the
rest directions are changed in the same
manner, what will be the direction for
the West 7

(a) Morth-East
b}  South

(€} South-East
(d) South-West

Supply the missing number (7)
48, 24, 72, 36, 108, (%)

(a) 115
) 216
() 121
(d) 54

Which number will occur in the place
of question mark (7) 7

235 (648) 413; B09 (1321) 512,
136 (7) 325
(a) 461
(b) 462
() 358
(d) 432

Keshav knows that Kapil's marks are
more than 3 but less than 8 in a unit
test. Mangal knows that these are
more than 6 but less than 10. If both of
them are correct, which of the
following stalements about Kapil's
marks is definitely true 7

(a) It has cither of two values.
(b) It has any of three values,
{c) It has only one value,

(d} It has any of four values.

94. Consider the following stalements :

Statement : Stodents are influenced

more by their teachers.
Conclusions :
(1) Students are influenced by
intellectuality.

(2) Students consider their teachers
as their role models.

(3) Much time of students is spent at
school,

Of these conclusions

(a8) Only (1) is implicit in the
statement.

(b) (1) and (2) are implicit in the
statement.

(¢} (1) and (3) arc implicit in the
staternent.

(d) (1), (2) and (3) are implicit in
the statemeni.

Consider the following statements :

Assertiom (A) : Sceds should be
treated with fungicide before
SOWINE.

Reason (R) : Without rreating with
fungicides, the seeds do not

germinate,

Codes :

(@) Both (A) and (R) are true and
(R) correctly explains (A).

(b) Both (A) and (R) are true, but
(R) 15 not correct explanation of
(A

(c) (A)is false, but (R) is true.

(d)  (A)is true, but (R) is [alse.
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96.

Analyze the following statement and
choose your correct answer from the
given options :

“"Conservalives are seldom intolerant.”

{a) Whoever is conservative is
intolerant.

(b} Many conscrvatives are
intalerant.

{c) Quite a few conservalives are
tolerant.

(d) All conservatives are intolerant,

Find out the odd item,
(a) DPensive

{b) Truthful

(c) Sly

(d) Virtuous

Among five friends A is heavier than

B, C is lighter than D, B is lighter than

D but heavier than E. Who among the

following is the heaviest 7

(a) B

by C

e} A
E

(d)

Directions regarding questions 99 and 100 :

The pie charts below show the

breakup of the Total Revenue and Total
Sales Volume for a company for one year

ending 31" March.
Total Fevenue =¥ 11,39,200 millions
Toatal Sales Volumes = 653610 units

Based on the data provided in both the

figures answer the two questions that
follow :

Tl Bievzis
Pl

(5.1 _—
i) Zomw M :.E
1% Dmni 1%
Aliz 11% n

99,

100,

Total Saloy olume

If the volume of sales of Omm was
increased by 25% and this sales
ihcrease was entirely at the cost of
MB00, then what is the percentage
decrease in MEOO sales 7

(a) 4.8%
b) 4.75%-
(c) 4.3%
(d) 4.25%

What is the approximate net revenue
per Esteem sold 7

{a) ¥13,26,000
(b) ¥ 13,485,000
{c) ¥ 14,36,000
(d) ¥14,81,000
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